ARG (At BERYH—the
N . | RUT A ARG 5— EE3 ShEES
SHSEE fRREFERYYI—K= g m = WA EX H =
BEME B BF | 2021/5/29 1300 | #HAHK | 709 ER20% PKE | 2545 FRLEAESEMALE BRY
x & \ 5 S B[25C[EE| 4% | BR[| B EvFIRE
TYFAV ARG B— mil FE BT |FEH S weoEH BEH, FUA 2| 2EBRZ(AI¥) 0
F B WA EX BlE2 |F FRE spiEy| AT T %5 i A
2 EUES 1
FENEBREER 3 | e o) TLHEEEAR
Z E &% F
KICK OFF P K
244 a—h . o . . a—pk e
OEELEE w18 m=e |BIB|EE| mse |8 mE T mE qEE] 2T
No.|oUTES M| w | & |35] 24|12 35] 24| 12| | ™ o | E 27241 35| 12| 24] 35| % | = |ouTEsM] No.
0 &} BAE 1leklek| 1|&Ha EiE (Cap) 0
0 e &3 2|DFloF| 2(|FE A3 1] 1 1
0 IR EH 4|DF|DF| 4|EH #EH 0
70+2%> 0 B EE 5|DF|DF| 5| K& 0
1 1 thit R—HA 14| DF|DF| 14| Ri2th 124 1 1 70+1%>
605> 1 1 1|#E% BEE 6|MFIDF| 18|7k& = 0
0 Ll BEx 7|MFIvF[ 6| BH EH 0 47%
674 1 1 1] 3| 1[#L m= 8|MFIMF[ 7[i2F BX 1 1
0 AR B 10| MFIMF| 10|BF% F|id» 1 1 674>
70+2%> 1 2 3 WA X (Cap.) | 11|MFIFW| of/hIl ZiE 1 1
1 1 SavT LU 9|lFwlFw| 11|#A KR KH 1 1
0 KHEBR —18 17| ek|eK| 17|Fa+ BE 0
5 0 E E 3|DF|DF| 3|#EHE #th 0
0 = A 18| DF|DF| 12|Mts [EX 0 14
0 Fi B 19|DF|DF| 19| AR Z=IE 0
0 TR EZ5 20| DF|MF| 8|#afE fERK 1 1 6
11 0 A+iE B 12| MFIMF| 13|1RE &E1E 0 10
6 0 Fh #E 15| MFIMF| 15|258 55 ER 0
0 =% B3 16|MFJFW| 16[f8 K RE 0
8 0 MR F5 13| FwWlFw| 20|% =—EB 0
Z&E-Ri5 BEE BE =&-R15
B =9 No|um BFH 115 7l Bt ER 5hR B |=o| No = BFH T4
ik iE | .. A ar | g iE iE
%%f_fjﬁ F— LA Eﬁ‘jﬁ%%
3| 6| 9|>a—K 7| 4| 3
5/ 6|11 GK | 7| 3| 4
20 2| 4] CK | 6] 2| 4
3| 2| 5|E#EFK| 7| 5| 2
1] 0| 1|f#EFK| 6| 2| 4
0| 0| 0|74 5| 1| 4
0| o/ 0] PK | 0] 0| O
18 mE BRF—L No.| |BmEE |No.| ZLRb |[No.| PR | RO7 | 3588 88H: ~FUTL —:T08R 1 BERAR < BE S:Va—k HiAT LY
5| FENEEEER 0G 1-0 [#9va—-n
1857 | LA EEER 2 |FZE A3 1-1 X 2 | &RBS
245 FELEESEER 6 |MBM EHE| 9 jvawv enwuy| 7 |80 BBR| 2-1 | ECK 7 i) 9 H 6 |ERS
585 | FENEEFER 8 |HLE w140 R—8 3-1 14 ) 8 |ARS
PKAA D ;EZ No1 No2 No No4 No5 No6 No7 No8 No9 No10 No11 No12 No13 No14 No15
(G & mra] g% 0:36:30 ( 0:01:30 ). #:* 0:40:21 ( 0:05:21 )., HAFEKM 1:16:51
] X ETHE) ORI, BEFKDSS ., BEF—LDA 7H(RIZEDHE. BRLTVET,



